27 November 2013 Wednesday Race Result istanbul Racecourse (99th Day)

11st Race Starts At:13:30 Maiden 57 kg, 1500 Dirt (Polytrack)

Prize 1. 24.000 2)9.600 b 3.)4.800 £ 4)2.400 ¢

Breeders Premium 1)6.000 2)2.400 ¢ 3.)1.200 ¢ 4)600 ¢

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Is-fatst RT
1 AYKAL(1) (USA) §V° N DISCREET CAT (USA) - NOTAGOLDBRICK (USA) 57 GKOCAKAYA TUR.CAKAR  HAKEL 13263 6,80 7 E::gth
2 SHEREKHAN(7) 2Y0O - 7AL EOF THECAT (USA) - STCLARRDGE (RE) 57 SBOYRAZ  LEV.SARIKAYA ESENGEL  1.32.74 2,30 8  3lengths
3 LOLION(13) 2y0chf LIONHEART (USA) - LORNA 55  AGELIK BAR. GORGUN HALYILDIZ ~ 1.33.20 3,65 11 3Lengths 44
4  SHEEN®) 2y0bc  ARAS (R - CHLIDHJIG (RE) 52 SEFDEMR MZY.ADALAR YNTAPKI 13361 5080 2 ﬂ_engms 29
5  PRINCESS GELTIK(15) 2yobf DVINELIGHT (JAN) - AVASRA 55  GOKH.GOKGE VED. OZKANLI H.GONULTAS 13362 1620 6 28
6  LILYPAD(12) 2y0bf  UNACOOUNTED FOR (USA) - STRAVINA (USA) 55 DMLDIZ NEV.SEYOK ASACAN 13392 2305 15 30
7 UZAY@) 2y0bc  BANKNOTE(GB) - HIVRKKZI 52 MHAVEDI  OZK.OZEN  EEREN 13398 8575 3
8 gﬁfgﬁfg 4 2yobf NATIVEFROCDA - MARSELLAISE 55 GYILDIZ BER KAYACI HCALISKAN 13411 1200 13 40
9 IANTAPP@) 2y0b ¢ UNACCOUNTED FOR (USA) - KAYLA 53 EKACAR  CEMATILGAN OGUNDOGDI 13447 2285 4 44
10 HALULA(1Y) 2y0bf MOHAN-LUALU 51 SAKBULAT MUS AKKAYA SUK CELIK 13473 1240 12
11 KHALASAR(S)(GB)  2yobc TURTLEBOW(IRE) - DAISYCUTTER (GB) 57 MKAYA ESR ATVAN METACAR 13478 1475 10
12 BEHRAVKALE(2) iyo ch &?;OFGBRALTAR('RE)‘ DANCETOTHEBAND 57 | KARATAS  BEH.YASAR ANHING  1.35.12 275 5
13 CELSI(10) 2y0 chf VICTORY GALLOP(CAN) - DONNA TRONFO (IRE) 50  VKAPLAN ﬁﬁ‘;jm NEVYILDIZ 13532 57,45 1
14 BORGAHAN(3) gy" N GRANDEKINOKS - MANLINA 57 NSEN MERC.EMRE E.KAPUSIZ 13549 355 9
15 BOGAZIN RUZGARI(9) 2yobf BOSFORUS (RE)- BELCE 55 ASOZEN  BEL.YERGUZ IESER 14077 1165 14

Pick(1) 6,80 t, Quinella(1/7) :14,75 b, Exacta(1/7) 26,35 %, Place(1) 4,70 4, Place(7) :1,95 4, Place Quinella(1/13) :10,30 %, Place Quinella(1/7) :13,50 £, Place Quinella(7/13) 6,40 b, Superfecta(1/7/13/6)
335,96 b, Quartet(1/7/13/6) 9,61 t



